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Use multiplication rules to determine the missing remainder for each problem.

1) 601÷5 = 120 r     1      2) 1,127÷2 = 563 r     1      

3) 6,742÷10 = 674 r     2      4) 2,216÷5 = 443 r     1      

5) 71÷5 = 14 r     1      6) 782÷10 = 78 r     2      

7) 79÷10 = 7 r     9      8) 7,877÷5 = 1,575 r     2      

9) 5,857÷5 = 1,171 r     2      10) 2,938÷5 = 587 r     3      

11) 653÷10 = 65 r     3      12) 511÷2 = 255 r     1      

13) 58÷5 = 11 r     3      14) 57÷10 = 5 r     7      

15) 127÷2 = 63 r     1      16) 51÷10 = 5 r     1      

17) 493÷10 = 49 r     3      18) 8,469÷2 = 4,234 r     1      

19) 916÷2 = 458 r     0      20) 1,119÷2 = 559 r     1      
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